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WELL LOG AND REPORT TO THE S 

ENGINEER OF NEVADA 

4-&& &/', ! 
.................................... Owner ............. ........... 4 : d k d  ........................... Driller--. 

. / ' I  ' I 

A- 

Water will be used .......... Total depth of well .... #..-A . . . . . . . . ~ ~ ~ ~ ~ ~ ~ ~ ~ . ~ ~ ~ ~ . ~ ~ ~ ~ ~ ~ ~ ~ ~ . . . ~ ~ ~ ~ ~ ~ ~ ~ .  
d A' Size of drilled hole ........ ..... /-I.CL.L .L/. .....................---.-.---. Weight of casing per linear foot ................................... .. ................ 

Thickness of casing ........ .................................................................................. 
&> * Diameter and length of casing/ ........................... z.k.5. ..L.i~ii.......&~..~..~~~ ..L ............................................................................................. 

' (Casing 12" in diameter and under give inside diameter; casing 12" in diameter give outside diameter.) 

If flowing well give flow in c.f.s. or g.p.m. and preasure ......................................................................................................................... 

If nonflowing well give depth of standing water from surface .... 

If flowing well describe control works ...................................................................................................................................................... 
(Type and size of valve, etc.) 

- :p 6 .- 

.... ....................... Date of commencement of welL ...L/!.-.~/:J-:&? ...--.-......-.- =ate of completion of well L// . .Q/-:~?..~ 

....... ..... ................................................................................. Type of well rig. .--.-. A.oJ~"" A L .....-...--...--. ..--..-..-..-.-..-..---....--....-...--..-..-. 

II 
Prom 
feet 

LOG OP PORMATIONS 
Water-bearing Formation, Casing 

Perforations, Etc. 

Chief aquiier (water-bearing 
formation) 

Other aquiiera ............................................... 

30 First water at .....% ............... .feet. 

Casing perforated 

.2 0 from ............................ to It. 




